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AMET—TH 219 224 222 446
BHETZTH 370 402 429 831
AMET=TH 572 589 732 1,321
AHETUTE 430 416 509 925
BSHET 372 396 478 874
REFIET—T B 382 385 439 824
BRAMET=TH 484 448 535 983
RAFIET=T B 645 557 647 1,204
TFHET—TB 313 318 357 675
EHET=TH 276 279 308 587
EEET—TB 435 396 484 880
EfEETZ=TB 429 385 476 861
EFSEET—TH 373 367 440 807
EERT=TH 329 321 354 675
EEE—TH 176 180 187 367
EEEZTH 335 330 383 713
HFEE=TH 440 475 544 1,019
EEEETB 408 430 479 909
BSET—TH 304 292 330 622
BEET=TH 496 436 565 1,001
HEET=TH 472 526 609 1,135
AEETET B 654 720 792 1,512
WEET—TH 341 332 345 677
WERETZTH 227 210 221 431
BWEET=TH 408 352 329 681
WEATMT B 434 401 497 898
WEETRETH 546 503 594 1,097
KFET—TBE 134 116 136 252
KFETZTH 373 355 400 755
KFET=TH 200 184 202 386
HIEET—TH 382 370 382 752
MERTZTH 407 416 480 896
FHREE—TH 163 134 182 316
FHREEZTH 188 167 204 371
FREE=TH 206 172 199 371
FHREBTET B 105 93 93 186
FREEATHE 113 84 108 192
AET—TH 337 306 365 671
AETZ—TH 141 138 155 293
ABET=TH 239 223 234 457
FET—TH 537 526 613 1,139
RET—TH 740 654 708 1,362
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=AET—TH 360 333 363 696
=AET=TH 308 268 273 541
ZHHET—TH 339 348 403 751
ZAET_TH 243 270 273 543
ZFHET=TH 553 566 633 1,199
ZAETETAH 494 475 536 1,011
KINRHT—TH 765 863 955 1,818
XIRETZTH 507 570 591 1,161
7N ET 2,397 2,832 2,964 5,796
NEET—TB 286 322 359 681
FNEETMT B 50 52 66 118
X JIIET 746 813 880 1,693
XRE—TH 804 890 950 1,840
XRETZTH 631 744 794 1,538
XRET=TH 701 844 912 1,756
XRETETH 473 504 584 1,088
MHET—TH 660 675 647 1,322
EET=THE 917 967 1,048 2,015
HET=TH 929 898 957 1,855
FEETEET B 507 503 551 1,054
#RHS BT 368 432 497 929
FHARITERN) 28,173 28,777 31,982 60,759
e BET 661 785 835 1,620
1 SET 184 225 236 461
EiEHT 445 588 569 1,157
FERT—TH 421 446 444 890
HER=TH 430 420 533 953
BHEE=TH 651 726 745 1,471
SHEETMNTH 357 433 417 850
1% FRHET 362 476 498 974
T BET 198 295 311 606
= HhET 167 224 200 424
iz 690 991 986 1,977
e 292 349 347 696
ILEBT—TB 989 1,160 1,157 2,317
IWFRT=TH 534 626 673 1,299
R N ET 267 429 415 844
BREHT 541 769 821 1,590
[L#EBT—TH 899 939 1,052 1,991
[LEET=TH 1,579 1,602 1,892 3,494
[LEBT=TH 1,390 1,313 1,574 2,887
FH(ENER#X) 11,057 12,796 13,705 26,501
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/N HHET 289 380 378 758
TEFHT 190 292 282 574
S EET 539 746 804 1,550
ESJCRRET 291 360 374 734
FrYEHT 544 908 931 1,839
T FA] R ET 119 164 193 357
JIALET 241 324 346 670
{8 FLET 56 86 83 169
B ALET 111 141 149 290
TJIET 780 907 956 1,863
T CFIER#TE) 3,160 4,308 4,496 8,804
g R ET 356 481 517 998
/Nt BRET 192 273 265 538
i SUET 222 280 293 573
FHT 366 473 500 973
5 T 590 798 855 1,653
INRF-ET 655 904 925 1,829
ZEHT 305 425 418 843
& FLET 209 216 227 443
=iEE—TH 312 357 385 742
={tA=TH 624 700 761 1,461
FTCAE#X) 3,831 4,907 5,146 10,053
={RET—TH 725 772 843 1,615
=RETZTH 519 558 610 1,168
=RET=TH 666 729 811 1,540
SEIRHET 554 628 605 1,233
L hET 285 418 391 809
TR ET 512 569 612 1,181
AR BRE—TH 413 477 490 967
AFBEETZTH 917 934 1,053 1,987
A EEI=TH 516 599 549 1,148
BRI TH 508 542 481 1,023
A EETRTH 585 604 610 1,214
R EHET 672 863 886 1,749
L SRET 1,896 2,357 2,449 4,806
A REHET 98 124 136 260
B RET 677 724 864 1,588
$i EET 464 604 624 1,228
¥E 2 THT 331 401 456 857
1R ET 606 873 947 1,820
ST RHET 1,231 1,413 1,489 2,902
FTEEHRX) 12,175 14,189 14,906 29,095
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5 HET 2,220 2,775 2,950 5,725
1% ZRHET 244 321 339 660
B S EHET 587 734 704 1,438
AIFEEBET=TH 166 223 245 468
JIEhET 884 999 1,034 2,033
R 1T R ET 525 634 712 1,346
T T HET 1,425 1,783 1,920 3,703
L FrEHET 1,401 1,674 1,730 3,404
INE AT 957 1,061 998 2,059
INBARET—TH 154 153 181 334
=il 565 555 506 1,061
BahE—TH 683 685 700 1,385
JLHHET 933 1,103 1,075 2,178
EIRASEHT 115 131 132 263
St hS BT 343 374 359 733
AFIRET—TH 644 703 804 1,507
AFIRETZTH 587 647 737 1,384
HTRIASHT 360 326 344 670
BHEMET 213 272 288 560
T (RX) 13,006 15,153 15,758 30,911
JTHARLET 3,311 3,702 3,593 7,295
TTHRHET—TH 418 475 522 997
TTHETZTH 476 480 518 998
TTHRHET=TH 52 63 65 128
ARET—TBH 235 224 223 447
ARBIZTH 579 619 615 1,234
ARET=TH 341 366 347 713
KEB—TBE 270 260 286 546
KEBTZTH 2 1 1 2
AHEHT 30 26 38 64
AEET—TH 173 189 205 394
BR2ETZTEH 183 170 204 374
AEEI=TH 155 158 157 315
ARETETE 215 228 224 452
AEETRATH 257 250 313 563
5 IET 617 678 471 1,149
THEEHE 401 409 443 852
FEET—TH 59 39 42 81
MEET=TH 280 229 237 466
T (TettihX) 8,054 8,566 8,504 17,070
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et BT#Rst 2,032 2,359 2,372 4,731
HettBT—TB 26 24 24 48
WHET—TH 337 347 322 669
HHET=TB 245 267 284 551
BHETET B 135 167 146 313
Rt ETHE R 1,314 1,590 1,670 3,260
RHBETEH 322 340 359 699
=HET—TH 492 562 574 1,136
BB R 383 494 491 985
T (st X) 5,286 6,150 6,242 12,392
L+ HAHET 1,047 1,327 1,368 2,695
B 1,746 2,173 2,270 4,443
e X B ET 1,282 1,466 1,606 3,072
T/NHET—TH 444 448 468 916
T/INHETZTH 993 951 961 1,912
T/INHET=TH 463 442 460 902
E/NHET—TH 570 652 643 1,295
F/PNHETZTH 663 672 706 1,378
F/NHET=TH 690 743 738 1,481
BERK<FET 717 826 818 1,644
HHET 2,040 2,388 2,456 4,844
ik gl 897 902 1,011 1,913
mHET—TH 575 675 705 1,380
RKET=TH 599 668 686 1,354
RMET=TH 214 236 248 484
FRETET B 174 209 190 399
B & <F AT 216 257 288 545
It T 41 58 58 116
z:fm]:is) 882 1,055 1,133 2,188
RE4RET 251 257 282 539
FE4RET—T B 188 237 259 496
BEiRET=TH 410 519 515 1,034
BEIEET=T B 497 565 561 1,126
JI R BT 124 123 143 266
JNRET—TH 463 563 608 1,171
JNEBT=TH 359 460 480 940
P AR HT 759 703 977 1,680
it (Pt X) 17,304 19,575 20,638 40,213
i BT 230 329 328 657
L+ EEFHET 168 243 239 482
HFEFET 800 979 1,087 2,066
Mgl 204 244 259 503
FTCERHX) 1,402 1,795 1,913 3,708
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XK SHT 1,210 1,334 1,346 2,680
XINKSBE—TH 450 474 524 998
XINKSETZTH 418 446 487 933
KINKSET=TH 802 879 849 1,728
L XREET 728 936 982 1,918
= EHT 201 263 280 543
L+ RBEET 255 308 338 646
B EPHET 110 136 138 274
Eadesliiy) 436 549 551 1,100
T RBEHET 217 316 305 621
/B R ET 139 199 198 397
b 2,861 3,459 3,588 7,047
TREBET 1,225 1,471 1,566 3,037
T GKEAH#IRX) 9,052 10,770 11,152 21,922
TREET 214 310 301 611
SRIRHET 289 424 396 820
= HHET 687 985 972 1,957
FTOHT 357 509 522 1,031
SiFHET 503 716 748 1,464
75K =HT 537 703 705 1,408
K=Y 251 339 332 671
B+ FHET 256 378 362 740
FFHET 96 140 143 283
ZZ = 979 1,386 1,362 2,748
S FHET 241 360 345 705
X FHET 380 546 552 1,098
INERET 602 789 800 1,589
L HEERET 530 626 661 1,287
T & FHET 325 451 466 917
EENNET 569 757 795 1,552
T (EFa b X) 6,816 9,419 9,462 18,881
K EAHET 637 736 836 1,572
X KHT 1,415 1,861 1,849 3,710
YRR HT 1,472 1,974 2,000 3,974
&R ET 444 639 611 1,250
FETEHT 543 780 810 1,590
HEALET 169 198 231 429
S [ BT 523 722 755 1,477
b T 1,127 1,447 1,576 3,023
L XREHT 411 554 525 1,079
FH(RHHX) 6,741 8911 9,193 18,104
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SERMET 899 1,338 1,399 2,737
HHEHT 582 802 850 1,652
iz B HET 235 363 349 712
=RRHET 102 118 118 236
|y SHT 366 559 602 1,161
5 15T 166 270 249 519
KATHHET 476 689 686 1,375
FH(EEHX) 2,826 4,139 4,253 8,392
FAJET R Z R 106 115 111 226
FHINETZER 184 273 269 542
FaJIET A H 393 564 591 1,155
FHIETREER 136 206 194 400
RET#T E 410 577 578 1,155
FNELAE R 630 862 840 1,702
FHBTRE 574 890 878 1,768
)BT 233 682 1,023 1,025 2,048
#)IBTFREE 188 231 267 498
FIETRIE R 52 74 78 152
)BT LR B 58 91 99 190
)BT FRET 42 76 73 149
fANET—HTH 36 66 54 120
)BT R 140 206 197 403
#4)1 BT BE 291 410 388 798
SHCGRNHREX) 3,922 5,664 5,642 11,306
EXTRETHS 337 450 442 892
EXTRETSIH 84 124 106 230
ETRETHEE 289 451 460 911
E 1T RET[RZHE 1,399 1,965 1,918 3,883
ETRET/NR 380 514 548 1,062
E LT RETKEF 328 520 552 1,072
=+ RETEFR 1,867 2,684 2,638 5,322
ETRE/NE 1,695 2,382 2,413 4,795
ELRETAH 938 1,388 1,373 2,761
ELTRETRE 110 169 165 334
ETRETHZ KIS 86 133 134 267
ELRETLAO 78 105 116 221
ETRETEIR 203 310 306 616
=1 RETFREIL 316 379 369 748
H(ELXRX) 8,110 11,574 11,540 23,114
& it 140,915 166,693 174,532 341,225




